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This case study is a brain teaser of sorts that will challenge you to figure out how to move disposal costs from a situation akin to the one in Exhibit 6 to one more like Exhibit 7. 
It’s okay to lump all waste disposal costs in overhead for all products (like in Exhibit 6) when those costs are negligible.  However, when they are not, then the total costs of different products are inaccurate.  One will appear to cost more than it actually does while the one responsible for generating the waste appears to cost less than it does.
Putting large costs (environmental or otherwise) that are generated by one specific process into an overhead account that is allocated across several processes can distort internal estimates of process and product costs.  
In this case study, Specialty Glass does not trace the cadmium waste disposal costs directly to the ruby red glass manufacturing process.  The arrows in the figure below demonstrate that the overhead cost of the hazardous waste disposal is spread evenly among the different products.
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Your challenge is to figure out how to reallocate the disposal cost so that it is attributed only to the product responsible for generating the waste disposal activity. 
It is possible that you won’t step into a job where environmental cost reports are generated.  You might just have a gut feeling that things could be more efficient than they are and then have to track down the information you need to back up your hunch. 
A lot of accounting is logic and analytical thinking.  Figuring out what you need to know and figuring out how to get a measurement.  I can remember being in an engineering class in grad school and my instructor asking the class on the first day, “If you needed to figure out a flow rate of a stage in a process line, how would you do it?”  The answer was simpler than one might think; just get a bucket with a known volume (e.g. a five gallon bucket) and a stop watch and see how fast it fills up to yield gallons/minute. You have to think about what essential information is missing and then figure out how to get it.  The math part isn’t hard, but it’s important that you set up your equations properly so that you yield accurate conclusions. 
Because this case study builds on itself, I can’t give you help for all the aspects up front like I could with the ABC exercises.  You have to work together to try to solve this.  Part of it is just figuring out what information you need but don’t have.   This is the case in #1 of the discussion question.  Some sections of this course really get stuck at the starting line, so hopefully rephrasing it this way will get you pointed in the right direction:  Hint: To figure out the production cost for ruby red glass (and therefore how much we are making or losing on it), you need to know two things. 
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‘Separating environmental

costs from overhead accounts

where they are often hidden and

allocating them to the appropriate

product, process, system, or

facilty directly responsible

feveals these costs to managers,

cost analysts, engineers,

designers, and ofhers. This is

crtical not only for a business

to have accurate estimates of

production costs for different

product lines and processes,

but also to help managers target

cost reduction activiies that can also improve environmental qualiy.
‘The axiom “one cannot manage what one cannot see” pertains here.

‘There are two general approaches to allocating environmental costs:

(1) Build proper cost allocation directly into cost accounting
systems, or

(2)  Handle cost allocation outside of automated accounting
systems.

‘Companies may find that the latter approach can serve as an interim
measure while the former option is being implemented.

A simple example illustrates the problem ¢ Exhibit 5 depicts a
traditional accounting system that assigns environmental and certain
ofher costs to overhead. Such overhead costs generally are allocated to
‘Widgets A and B in proportion to their consumpiion of labor and
materials.

EXHIBIT 5

TRADITIONAL COST ACCOUNTING SYSTEM

Tools | Sign | Comment

¥ This example and the diagrams are derived from Rebecca Todd,
“Accounting for the Environment: Zero-Loss Environmental Accounting
‘Systems,” Presented at the National Academy of Engineering, Industrial
Ecology/Design for Engineering Workshop, July 13-17, 1892.
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EXHIBIT 6 EXHIBIT 7

Misallocstion of Environmental Costs Under Revised Cost Accounting System
Traditional Cost System.
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